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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total number
of questions contained in the Question Paper are the same as those printed on
the top of the first page. Also check to see that the questions are in sequential
order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 56/HIS/2, Set [A] on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish,
you can answer in any one of the languages listed below : ngﬁ
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayala?r'l, ‘Kannada,
Telugu, Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the
box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only. @#&Elﬁ

O
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Time : 3 Hours | [ Maximum Marks : 100
g ;3 =0l | [ qUTieR : 100
Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(ii) Each question from Question Nos. 1 to 10 has four alternatives—(A), (B),
(C) and (D), out of which one is most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No extra time is allotted for
attempting multiple-choice questions.

fdor: () et gl F s ) E.;ﬁ
(i) I T % G 3Gk ek ford T 2 |
(i) T &I 1 ¥ 10 9% F TA% IW A =R fowea—(A), (B), (C) = (D) B, o
¥ TH IUYE | AN foekedi § ¥ WE IW gA q°1 AT IW-Yieae § T w6
e I ford | 98- foepedt Wt o forg sfcfe e 7t fean smom |

1. The coefficient of correlation ranges between

(A) O and 1 B) -1 and +1

(C) - infinity and + infinity (D) 1 and 100 1
Tedas Ok % o= BT g

(A) O@qur 1 B) -1 qum +1

(C) - A dUl + 3 (D) 1 qu1 100

2. Expansion of demand leads to
(A) downward movement along the same demand curve
(B) upward movement along the same demand curve
(C) rightward shift of the demand curve %ﬁ
(D) leftward shift of the demand curve 1
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(A) I =T T W A= A AR dEen
(B) 3 HIM 9% W FW HI AR FeH
(C) #im = ¥ erff 3 Rawea

(D) @i g% § arff 2R Rawewa

3. Average variable cost of producing 2 units of a good is ¥20 and that of
producing 3 units is ¥ 19. Marginal cost when 3 units are produced is

(] ]
A T17 L E B) T18
(C) T19 (D) 20
foret o Al 2 3 F I A ofEd ufEdt m €20 ¥ qen el 3 IR %
IcTed i e aiEd! AT €19 21 3 3T A1 3cared i W AN §
A T17 B) T18
(C) T19 (D) 20
4. An individual is both the owner and the manager of a shop taken on rent.
Imputed value of salary of the manager is
(A) normal profit (B) variable cost

(C) implicit cost (D)  explicit cost

TF ARk foE W ol T TE gHH w1 W qA BASR @M gl BASR % oad &
ARG g 2

(A) EHTT ™ (B) ufadt @mrd
(C) 3Tafea «vd (D) TIE AT

5. Computers installed in an office are

(A) consumption goods (B) intermediate goods
(C) non-durable goods (D) final goods

T AR T R T R §

(A) T A S (B) werad gy

(C) Tr-feshras =gy (D) = e
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6. National income is greater than domestic income, when
(A) net factor income from abroad is zero
(B) net factor income from abroad is positive
(C) net factor income from abroad is negative
(D) the economy is a closed economy %%g 1
TP T, R M ¥ Al Bl B, S
(A) foeei @ ymw fee @em 9@ I @
(B) foewi @ wm faet Wiem A TS |/
(C) oot & ymw Faret @iem 1a FHomeRs &l
(D) HefEEA TF o< AT &l

7. Value added is a measure of contribution of

(A) a resident (B) a production unit

(C) an entrepreneur (D) a worker 1
Iod 9fg Th __ % AEH 1 O9E 2

(a) famd (B)  3cuTEd THE

(C) el (D)  fies

8. Income in an economy increases from ¥ 1,000 crores to ¥ 2,000 crores and
as a result consumption expenditure increases from ¥ 800 crores to ¥ 1,600
crores. The value of MPC is gl_;ﬁlilﬁ

(aset

(a) 1 | B) 2
(C) 08 (D) 02 1

T e # A € 1,000 FHUE ¥ Fea € 2,000 FHUS & Il g 3N Horasq
ST = € 800 S U R € 1,600 FIS T Wl 81 MPC 1 Heof ¢

A) 1 (B) 2

(C) 08 (D) 02
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9. On a diagram, the distance between the point of origin and the point on
Y-axis from which the consumption curve starts is a measure of

(A) saving %‘fﬁ (B) income
(C) fixed consumption (D) disposable income
[Tt W gAferg q91 Sel 4 V-39 W U 9% AR Bl @ o s A gl
N T T
(A) SEd (B) A
(C) fer Iuwm (D) TISA ™
10. Investment multiplier is equal to
AY 1
A A B T mpc
(C) 1 (D) All of the above
MPS
3 Tk SR
AY 1
A A B 1w
© (D) i wh
MPS

11. Using step deviation method, calculate arithmetic mean from the data given
below :

Age (in years) 20-30 30-40 40-50 50-60
No. of Employees 20 30 40 10

[N Nl N & N O A
e oo fafar g fefafiaga stfewet @ gurar wiew i o fifso E%

379 (aut ) 20-30 | 30-40 | 40-50 | 50-60
FHeRAT G 20 30 40 10

12. What is meant by positive and normative economics? Give one example of
each.

arfees R ATeel 1dvmE ¥ & I 87 U 1 Ueh-Ueh 3T S|
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13.

14.

15.

16.
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How is the demand for a commodity affected by an increase in price of

related goods? Explain. FiE
g p Eiﬁ%ﬁ

geiftrd segent 1 Fma § gy 2 W T agg A @it F galed 2 37 ey

Coefficient of price elasticity of supply of a good is 2. A producer supplies
200 units of this good when its price is ¥ 10 per unit. Calculate the quantity

supplied of this good when its price rises to ¥ 12 per unit.

T ] A (A hHd AE TUE 2 2| T IcqEk 39 a%g ol € 10 WA 3 ki
T 200 3 hl AYd HAT 8| 9 TG hl hHd dgR T 12 Tid THE EH W g

amgfd & W o iR

Describe any three main characteristics of monopolistic competition.

TR Tfaeifirar it fohdl o= e fomwarett &1 auiH S|

Calculate gross value added at factor cost from the data given below :

(i) Sales

(ii) Subsidies

(i) Indirect taxes

(iv) Intermediate consumption expenditure
(v) Consumption of fixed capital

(vi) Opening stock

(vii) Closing stock

Frefafaa s1ferel @ ATeH ARG W Thd God ghg i TUET HINT

(i) fosmt

(i) I TEwE

(i) AITT-HT

(iv) TETA IUANT ==
(v) = USH AT ST
(vi) ITREF ik A
i) sitmwE O

¢ (in lakhs)

3,000

30

100

1,500

200

20

10

¢ (dm@ W)
3,000

30

100
1,500
200

20

10



17. Explain the meaning of ‘normal residents’ of a country.

¢ ’ O 0|
fordt 221 & A= faEl @ 219 "wEEn) E’f&i

18. Describe any two factors which determine propensity to consume in an
economy.

T8 foRl |t wret 1 avia fifse, St et § 3w waft w fRuifka wa #

19. What is meant by revenue receipts and capital receipts in a government
budget? Give one example of each.

TR o S H Ted WIHEl qen gSia Wi’ | 9 AfeuE 27 Yois H Uh-Teh
Jarew iR

20. Calculate (a) revenue deficit, (b) fiscal deficit and (c) primary deficit from the
following data :

¢ (in billion)

() Revenue expenditure 40
7)) Revenue receipts 30
(@) p

i) Borrowings 15
(iir) g

iv) Interest payments 5
() pay

v Capital receipts 20
v) p p

frafafaa Afeel @ () TS =M@, (b) TTHHT =@ QAT (¢) WATHE =1 FHITOET
ﬁﬁq:%@
OER

¢ (3na W)
() TS = 40
(ii) TR gTreEt 30
(iii) T 15
(iv) TS IaH 5
(v) dsma et 20

21. What is a Lorenz curve? Explain the steps involved in drawing a Lorenz
curve.

AR a5 1 BT 87 ARS dh Wi H T S0 gueEy |
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22. What is an economic problem? Why does it arise? Explain. 4

e WL 1 Bl 27 I F 39 Bl 87 THeE| gﬁg

23. A household demands 20 units of a good when its price is ¥ 5 per unit.
When its price falls to ¥4 per unit, he demands 25 units of this good.
Calculate its price elasticity of demand. 4

UF qiar fret axg @ €5 ufd 3 dima W ogEeRl 20 Al hl AT Al g1 59
TUh! hiAd HH B T 4 Uld FHE & Sl 8, 9 9 FEh 25 FHEA hl HIT LAl &
aEg i A A FHwd A= S TOET I

24. State the necessary conditions to maximize profit of a producer through—

(a) total revenue and total cost approach;

(b) marginal cost and marginal revenue approach. 4

U ICAGH ok A HI AIHAH FA h TR Al H I hIoTT—
(F) FA ATM IR FA @FG G g,
(@) Hura amma R Hoea e fafer grnd

25. What is meant by excess demand in macroeconomics? How is the bank rate
used as a tool to reduce excess demand in the economy? 4

Ay rofvme § emftem win W o AU 27 srefeyewen W oSTite™ #im Wl W R
& foi 9% T H Tk TR F BY T HY YA fRAT Sar 29

26. What is meant by increase in supply? State any two factors which may lead
to increase in supply of a commodity. ,_.;?&_E' 4

‘amgfd @ gfg’ ﬁw&ﬁw%?iﬁwamlwlaﬁrsgaaﬁﬁq e fordt ag
# omyfd # g & wewdt 2|

27. Using assumed mean method, find out standard deviation from the

following frequency distribution : 6
Size 0-2 2-4 4-6 6-8 8-10 | 10-12
Frequency 2 4 6 4 2 6
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28.

29.

30.

31.

fcqa mwrex fafer =1 s s gu fefafea gt foaor & 9w foaem 3@ fifsm

37T 0-2 2-4 4-6 6-8 8-10 | 10-12

g 2 4 6 4 2 6

Describe any four issues to be kept in mind in the construction of index
numbers. E4E

mlﬁ
UHt foReel WR ATal 1 Guia RIS, St GEehiehl Sl ToT hd GHT A § TEH! =mfe |

A consumer consumes two goods X and Y. Explain the conditions of his
equilibrium using indifference curve approach.

T IUNH A FEGIT X qAT Y H IUN FAT ¢ | SHHE a5 At F O wd g
3G GgeH I Id qHEEY |

State and explain the law of variable proportions. Use diagram or a
numerical example.

‘gt TguTal w1 W @ Ig@ X Rl AT FIfNU| Wi 31eEl g
IATELU T TN TS|

Calculate gross domestic product at market price from the data given
below :

¢ (in crores)

(i) Subsidies 40
(iij) Indirect taxes 140
(i) Mixed income of self-employed 15,000
(iv) Compensation of employees 9,000
(v) Consumption of fixed capital 500
(vi) Net factor income to abroad 20
(vii) Profit gﬁg 3,000
(viii) Interest 1,500
(ix) Rent 2,000

318/HIS/110A 10 IHI\IHIIIII\HIIIHIHIIHIHII\II\IlHH||||\|



[N e N aN

ffaRaa sAferel & ISR hIMd T Wbl Tic] 3CA1E ! UM SHITT,
or)

R aE ¢ (w3 H)

() 3 TErEE 40
(i)  ATII-HL 140
(i) R f e sm 15,000
(iv) HHETET ST Tiefies 9,000
(v) =S S B ITHA 500
(i) Tacem =t fae e o 20
(vii) @9 3,000
(viii) =TS 1,500
(ix) TH 2,000

32. Describe the following functions of money :
(a) Medium of exchange
(b) Store of value %‘%
g1 o fefeiiad /i @1 aui i -
(%) Tafm=a & wem
(@) Fea-we
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